Questions about energy and climate economy with one correct answer in each

1. What is path dependency?
a. Dependency on external supplies
b. Policy Dependency on existing infrastructures and technologies
c. Policy Dependency on new infrastructures and technologies
2. What is a political economy of energy transitions?
a. Transition towards self-sufficient in energy economy
b. Transition from command to market economies
c. Transition to low carbon economy
3. Demand Side Management is
a. A policy aiming at mitigating high energy consumption by improving conservation, electricity load and by fuel substitution
b. A policy aiming at regulating prices at the retail level
c. A policy aiming at diversification of supply
4. Which European countries have the highest level of wind energy capacity installed by2012?
a. Germany and Spain
b. Germany and Netherlands
c. Germany and the UK
5. Political economy of sustainable development is
a. A subject addressing technological change
b. A subject addressing only behavioral changes
c. A subject addressing both technology and behavioral changes
6. Energy intensity reflects
a. Level of energy efficiency
b. Level of energy demand
c. Level of structural change in energy demand
7. Energy intensity automatically increases/decreases with:
a. Changes in structure of energy demand in industrial and residential sectors
b. Level of energy demand in industrial and residential sectors
c. Growth/decline of energy demand in industrial and residential sectors
8. Energy intensity has decreased since 1970s in most of the OECD countries but
a. It did increase in the US 
b. It did increase in northern Mediterranean countries
c. It did increase in most of the OECD countries
9. Does a decrease of the energy intensities in OECD countries signify a positive dynamic in energy conservation technologies?
a. Yes, energy intensity decreases when energy efficiency decreases
b. No, because energy intensity increases with energy efficiency
c. The two concepts are different albeit related. Energy intensity can be influenced by any change in economic structure 
10. Comparison of Energy intensity between UK and Ukraine will demonstrate that:
a. The two countries have similar levels of energy intensity
b. UK has a higher energy intensity
c. Ukraine has a higher energy intensity 
11. China’s greenhouse gas emissions level boosted from 2000 to 2009. Did its energy intensity followed?
a. No, paradoxically its energy intensity decreased by 2009
b. Yes, emissions level is stimulated by energy intensity
c. The two are not related but China’s energy intensity increased since2000
12. What are the external costs in energy?
a. Costs of environmental damage induced by energy sectors
b. Costs of removing environmental damage induced by an environmental damage 
c. Can be either of the two, depending on calculation method
13. Internalization of externalities is
a. Introduction of external environmental costs into an energy price
b. Introduction of external environmental costs into price of renewable energy sources
c. Introduction of external environmental costs into the production costs of fossil fuels
14. Electric cars are gaining popularity among European consumers. Are the electric cars more ecological than fuel-driven cars?
a. Yes because they do not emit greenhouse gasses
b. The impact on the ecological situation will still depend on the primary fuel from which electricity is generated
c. Electric cars are just cheaper to use in the context of high oil prices
15. Does the British support mechanism NFFO include nuclear energy?
a. Yes, both nuclear and renewable energy sources
b. No, it only addresses renewable energy sources
c. No, it only addresses fossil fuels
16. Was the Renewable Obligation considered as a success in the UK? 
a. Yes, the level of renewable energy increase largely happened thank to the RO
b. No, the UK later changed the scheme and introduced feed-in tariffs
c. We can not assess yet as the Renewable Obligation is still in place
17. Is there any link between feed-in tariffs and an increase of renewable energy capacity installation?
a. Yes, Germany, Spain and Denmark are the first to introduce feed-in tariffs and we can assess the effect by capacity installed
b. Effect is rather negative, feed-in tariffs rise a financial burden on networks
c. Effect is neutral, direct subsidies in installation of renewables played a bigger role
18. In 2011, Spain withdrew the feed-in tariffs. Investors plan to sue Spain for subsequent financial losses. What did Spain violate?
a. The Lisbon’s Treaty article 194, which forbids Member States to deviate their energy policies from the common EU energy policy
b. The Energy Charter Treaty, investment protection provisions (art. 10)
c. Spanish domestic legislation
19. Changes in world total primary energy supply since 1973 demonstrate 
a. An absolute increase of oil production from 1973 to 2009 with a relative share of oil decrease from 49 to 40%
b. An absolute increase of oil production from 1973 to 2009 with a relative share of oil decrease from 49 to 34%
c. An absolute increase of oil production from 1973 to 2009 with a relative share of oil decrease from 49 to 29%
20. Between 1973 and 2009 the share of electricity consumption  at global level grew from
a. 10 to 17%
b. 20 to 27%
c. 30 to 37%
21. EU set 20-20-20 targets. What is the most difficult target to achieve?
a. 20% of renewable energy by 2020
b. 20% of emission reduction by 2020
c. 20% of energy efficiency
22. The EU’s 20% renewable energy target is
a. Relative to Total Primary Energy Supplies
b. Relatives to net energy consumption
c. Relative to Final energy consumption 
23. The 20-20-20 target means
a. The EU has its energy policy in accordance with the Art 194 of the Lisbon Treaty
b. Member States still have their control over implementation of targets but have to follow EU’s secondary (sector) targets
c. The 20-20-20 objectives are not related at all to the Lisbon Treaty
24. Third Party Access was introduced in:
a. 1991 with the first EU’s transit directives
b. 1994 with the Energy Charter Treaty
c. 1996-1998 with the first energy Directives
25. What is the main motive for the Third Party Access regime in the EU?
a. Affordable price for consumers
b. Creating a choice between suppliers
c. Promotion of renewable energy sources
26. Does the price competitiveness hinders the promotion of renewable energy?
a. Yes if the price of electricity is either constantly low or volatile
b. No if the Third Party Access regime is effective
c. Yes if the price of electricity is high
27. Feed-in tariffs are:
a. Support mechanism to stimulate a demand of a renewable energy generated electricity
b. Support mechanism to stimulate installation of new renewable energy capacity 
c. A mechanism avoiding a discrimination between renewable and non-renewable energy source
28. Could one claim that feed-in tariffs were the most effective mechanism for renewable energy promotion?
a. Yes, as most of the States where feed-in tariffs were introduced have been successful in promotion of renewable energy capacity
b. No, as feed-in tariffs lead to electricity price increase
c. No, as feed-in tariffs lead to electricity price decrease
29. In 1997, the EU announced an objective to increase renewable energy from 6 to 12% in the total primary energy supply by 2012. Was it achieved?
a. Yes, current level of renewables is about 13%
b. The targets achieved but only for the member states who were part of the Union in 1997
c. No, current level of renewables is about 9%
30. The EU declared an energy efficiency objective by 2020. How the target is defined?
a. By the level of energy intensity
b. By the level of energy demand in Mtoe
c. By the level of energy efficiency in terms of output from production process
31. How water supply is related to energy?
a. Not related, apart of hydropower plants
b. Related only to hydropower and nuclear power
c. Related to most of energy sectors
32. What are the most concrete policy targets in Russia which directly address energy intensity decrease?
a. Energy efficiency cooperation with the EU
b. Gas flaring abatement targets
c. Export of renewable energy capacity to the EU
33. What are the three energy policy objectives of the European Union: 
a. Sustainability, competitiveness and security of supply
b. Security of demand, security of supply and transit security
c. Internal energy market, efficient competition and free competition
34. When the European Commission is examining downstream energy contracts, what elements does it primarily focus on: 
a. Historical market share, market share of a company and market power of the buyer 
b. Volumes, duration and cumulative effect of all contracts in the relevant market 
c. Linkages between electricity and gas contracts and markets, buying power of the customer and nature of energy as a commodity
35. Third Party Access was first introduced in:
a. 1991 with the EU’s transit directives
b. 1996-1998 with the first energy Directives
c. In 2009 with the latest Energy Market Directives
36. EU-Russia energy efficiency initiative is
a. A binding bilateral treaty on energy efficiency promotion
b. A non-binding initiative within the EU-Russia energy dialogue
c. Part of the Energy Charter Treaty
37. Can Russia export renewable energy to the EU if it develops new installation capacity?
a. No because renewable energy is a decentralised energy
b. Yes, renewable energy can be physically connected to the networks and exported
c. Yes by a capacity market, when an existing export capacity is legally linked to the newly established renewable capacity
38. Preamble of the third electricity Directive of the EU stipulates:
a. Directive should aim at protecting consumers
b. Directive should aim at liberalizing electricity markets
c. Directive should aim at creating a competitive and secure internal market
39. Are the policies of liberalization and of sustainable development promotion clash?
a. To certain extent as the sustainable development requires higher intervention from States
b. No, because efficiency of markets creates energy efficiency and hence sustainable development
c. These are two different policy fields hence are not related anyhow
40. Main challenges for shale gas development in Europe  are:
a. Effects on water supply
b. Environmental costs and volatility of gas price
c. Competition with natural gas
41. Three main energy policy paradigms observed in the EU are:
a. Affordability of energy, competition and promotion of renewable energy
b. Energy security, liberalization and sustainable development
c. Self-sufficiency of energy supplies, affordability of energy price and environmental protection
42. Kyoto Protocol was concluded 
a. By a Conference of Parties within the United Nations Framework Convention for Climate Change
b. By UN General Assembly within the United Nations Framework Convention for Climate Change
c. By an international conference within the United Nations Framework Convention for Climate Change
43. Kyoto Protocol includes three flexible mechanisms
a. Emission trading, joint implementation and white certificates
b. Emission trading, clean development mechanisms and white certificates
c. Emission trading, joint implementation and clean development mechanisms
44. To be eligible for a Kyoto Protocol flexible mechanism, an investor has to
a. Prove that his project leads to greenhouse gas emissions reduction
b. Prove that his project leads to greenhouse gas emissions reduction or promote forest management
c. Prove that his project aims at any positive environmental effect
45. Sectors covered under the Kyoto Protocol flexible mechanisms are:
a. All energy sectors
b. All energy sectors, industrial processes and agriculture 
c. All sectors apart of energy because energy has an easy potential to reduce greenhouse gases
46. Kyoto Protocol was concluded in 1997 and did set an emission reduction target by 2012. Was it achieved?
a. No, emissions increased in the developing world whereas decreased in the OECD
b. Emissions kept increasing everywhere hence targets were not achieved
c. Yes, Kyoto targets were successfully achieved
47. What is European Trading Scheme?
a. EU’s internal energy market
b. EU’s emission trading market based on Kyoto Protocol
c. EU’s emission trading market which exists separately from the Kyoto Protocol
48. Did the emission level increase since the UNFCCC was signed by 2013?
a. Yes 
b. No
c. Remained the same
49. Is the level of investments into the CDMs significant?
a. Yes, it reached 215 bln USD by 2012
b. No, it remained marginal and under 150 bln USD by 2012
c. CDM does not require investments because it is a command-and-control mechanism
50. Kyoto Protocol was concluded in 1997 till 2012. What  happened to the Kyoto Protocol afterwards?
a. Its effects were renewed till 2015
b. Its effects were renewed till 2016
c. Its effects were renewed till 2017
51. What are the emission reduction units?
a. Carbon credits received by implementing Joint Implementation
b. Carbon credits received by implementing Clean Development Mechanisms
c. Carbon credits received by white certificates and by emission trading
52. Does Kyoto Protocol establishes an investment protection mechanism for environmentally friendly technologies?
a. Yes, all flexible mechanisms include provisions on protection
b. No, Kyoto Protocol does not elaborate investment protection
c. Investment protection is not needed in the field. It only relates to fossil fuel production
53. What is Russia’s position regarding Kyoto Protocol?
a. It did sign and ratified the Kyoto Protocol and related documents of renewing it after 2012
b. It did sign but not ratified the Kyoto Protocol
c. It did sign and ratified the Kyoto protocol but rejected its renewal in 2012
54. Russia’s potential gains in flexible mechanisms of Kyoto Protocol are
a. Credits from emission trading and from clean development mechanisms
b. Credits from emission trading and from joint implementation
c. Credits from clean development mechanisms and from joint implementation
55. Do the European white certificates have a similar concept to Joint Implementation?
a. Yes, because both introduce a possibility to sell a credit on energy efficiency improvement
b. No, because Joint Implementation address emission reduction and white certificates are related to the energy efficiency improvement. And these are not related fields
c. Joint Implementation and white certificates are simply the same mechanism just with different names
56. Which flexible mechanism would be applicable in an African country?
a. Clean Development Mechanism
b. Joint Implementation
c. White certificate
57. Does Norway take part in the Emission Trading Scheme?
a. No because Norway is not a EU member state
b. Yes because Norway is a contracting party of the Kyoto Protocol
c. Yes because Norway decided to join the scheme
58. Does the EU ETS cover all greenhouse gas emissions? 
a. Yes, at least up to 90%
b. No, only 45%
c. Very insignificant: less than 10%
59. When looking at the greenhouse gas emissions dynamics between 1990 and 2007 we can see that
a. Emissions decreased in the UK, Germany and Sweden, but increased in Italy, Spain and in France
b. Emissions decreased in Germany and Sweden, but increased in Italy, Spain, UK and in France
c. Emissions decreased only in Sweden
60. Since 1990, Estonia’s emission level 
a. Increased by 10%
b. Decreased by 50%
c. Decreased by 45%
61. In most of transition economies greenhouse gas emissions levels fell in the period of 1990-2007. The main reason is:
a. Economic depression and desindustralization
b. Positive effect of the European integration and subsequent implementation of better standards in equipment
c. Increase of energy demand per capita
62. What is the logic of a white certificate?
a. Support an energy efficient appliance by setting a binding target and by issuing a certificate to a successful industry
b. Support an energy efficient appliance by creating a voluntary market system: non-implementers just buy the right to use dirty technology
c. Support an energy efficient appliance by pure command-and-control mechanism
63. What energy sectors have highest discounts rates in case of a project finance?
a. Nuclear and gas
b. Nuclear and oil
c. Oil and gas
64. Does nuclear energy gains from liberalization of electricity markets
a. It can be competitive, but large-scale subsidies from the State will always be necessary (especially in security and waste management)
b. It is competitive anyway because its operation costs are lower, whereas subsidies are seldom in the competitive market
c. No because its capital costs are higher and additional expenses go to security and waste management
65. Average time for nuclear power finance
a. 25 years
b. 30 years
c. 45 years
66. Generation costs of nuclear energy is 
a. Always higher than of gas combined cycle but lower than solar
b. Higher than any of fossil or renewable energy generation
c. Lower than any fossil or renewable generation, apart of gas combined cycle
67. Installation costs of nuclear 
a. Did increase in latest decade
b. Did decrease compare to 1990s
c. Installation costs always remained around 1000$/kW
68. If discount rate rises
a. Net present value of a project diminishes
b. Net present value of a project increases
c. Net present value is not related to discount rate
69. Why marginal costs of energy production rise?
a. Because energy price rises hence all related equipment costs rise
b. Energy production becomes more expensive because of constant intervention from States
c. Profitability increases and hence marginal costs increase
70. Do global investments in oil increase?
a. No because of wide renewable energy promotion
b. Yes they tripled since 2003 because of rising Marginal costs
c. Yes increased by not significantly
71. What is an average carbon price in the EU’s ETS in 2012?
a. About 30 Eur per ton
b. About 20 Eur per ton
c. About 4 Eur per ton
72. Can the EU ETS be considered as an additional financial burden for industry
a. No because the industry is not obliged to purchase the allowances
b. Yes it is a financial burden because the industry (in some sectors) have to purchase the allowances
c. Yes but since the carbon price fell, its significance has reduced
